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NEOTVARAJTE, POCKAJTE NA POKYN!
PRECITAJTE SI NAJPRV POKYNY K TESTU!

N

Test obsahuje 60 uloh.

Na vypracovanie testu budete mat 100 minat.

Na zacCiatku kazdej ulohy sa z inStrukcii dozviete, ktory odpovedovy harok mate pouzit.

V teste sa stretnete s dvoma typmi uloh:

o Pri ulohach s vyberom odpovede vyberte spravnu odpoved spomedzi niekolkych
ponukanych moznosti, z ktorych je vzdy spravna iba jedna. Spravnu odpoved vyznacte
krizikom do prislusného poli¢ka odpovedového harka oznaceného piktogramom .

o Pri ulohach s kratkou odpovedou, ktorych odpoved tvori jedno slovo (pripadne
zloZeny slovesny tvar) alebo niekofko slov, piste do prislusného policka odpovedového
harka oznaceného piktogramom z

Pri praci smiete pouzivat iba pero s Ciernou alebo modrou naplfiou. Nesmiete pouzivat

zoS8ity, slovniky, u¢ebnice ani inu literaturu.

Podrobnejsie pokyny na vyplnovanie odpovedového harka su na poslednej strane

testu. Precitajte si ich.

_/

Zelame vam vela uspechov!

Zacnite pracovat, az ked dostanete pokyn!



MATURITA 2020 — EXTERNA CAST

Section | — LISTENING (20 points)

Tato cast testu sa sklada z troch nahravok. Kazdu z nich budete pocut dvakrat. Pocas
pocuvania odpovedajte na otazky prisluchajuce k jednotlivym nahravkam. Sledujte inStrukcie

a piktogramy, aby ste vedeli, na ktory odpovedovy harok mate vyznacovat’ svoje odpovede.

Part 1: Interview with Ethan Hawke (7 points)

Viypoclujete si rozhovor s americkym hercom Ethanom Hawkom. Na zéaklade vypocutého

vyberte spravnu odpoved. VZdy je spravna iba jedna z pontkanych moZnosti.
Svoje odpovede vyznacéte na odpoved’ovom harku oznacenom piktogramom .

Teraz mate dve minuty na precitanie tloh 01— 07.

01 The film Boyhood also describes the

(A) main character’s fights with his girlfriend
(B) main character’s adaptation in a new school
(C) break-up of the main character’s parents

(D) main character’s life in a foreign country

02 According to Ethan, what makes Boyhood different from other movies is

(A) its exciting topic

(B) the location of the story
(C) a good choice of actors
(D) the reflection of real events

03 Film viewers trust the characters because

(A) of their never-ending conflicts
(B) they are played well
(C) of their development

(D) they have difficult relationships
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04 According to Ethan, child performers

(A) were untrained for acting
(B) trained as professionals

(C) played in dangerous scenes
(D) imitated real actors

05 Ethan Hawke enjoyed the fact that young actors

(A) laughed at each other a lot
(B) behaved as in ordinary life
(C) discussed their lives with him
(D) performed in funny scenes

06 Ethan Hawke thinks that adults

(A) feel ashamed of their adolescent behaviour

(B) are entertained by their teenage experiences

(C) still consider their youth experiences as special

(D) realize that lots of people have common experiences

07 Ethan Hawke compared cars and people to express that

(A) both have good and bad moments in life

(B) accidents happen in the lives of both

(C) both grow old from the moment of birth

(D) the life of both can have a slow or fast speed
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MATURITA 2020 — EXTERNA CAST

Part 2: | Have Moved to an Island Paradise (6 points)

Viypocujete si pribeh Jennifer Barclayovej, ktora sa rozhodla Zit a pracovat’ na malom ostrove

v Grécku. Na zaklade vypocutého rozhodnite o kazdom z tvrdeni 08—-13, ¢i je pravdivé (A),

nepravdivé (B), alebo z nahravky nevyplyva (C).

Svoje odpovede vyznacte na odpoved'ovom harku oznacenom piktogramom .

Teraz mate dve minuty na precitanie uloh 08 —13.

08 Jennifer decided to make a change in her life because of the critical situation in her job.
(A) true (B) false (C) not stated

09 Jennifer’s close relationship with Greece started at the end of her secondary school
studies.
(A) true (B) false (C) not stated

10 For Jennifer, moving to a different country was no challenge.
(A) true (B) false (C) not stated

11  Living on Tilos made Jennifer professionally independent almost immediately.
(A) true (B) false (C) not stated

12 The population of Tilos in the summer is three times greater than in the winter season.
(A) true (B) false (C) not stated

13  Jennifer believes that the local inhabitants of Tilos care for each other.

(A) true (B) false (C) not stated
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Part 3: Six Tips for Writing and Getting Your Work Published (7 points)

Viypocujete si rozhlasovu relaciu, v ktorej skusena redaktorka Elise Howardova radi zaéinajucim
mladym autorom. Budete pocut 6 praktickych rad, ktoré su zhrnuté vo vetach oznacenych
Cislami 14 —20. Na zaklade vypocutého zorad'te vety do spravneho poradia tak, Ze zapiSete
do odpovedového harka ku kazdej z nich prislusné poradové ¢islo od 1 do 6 podla poradia
v nahravke. Pozor, jedna veta obsahuje informaciu, ktora sa v nahravke nenachadza. K tejto vete
napiste do odpovedového harka X.

Svoje odpovede napisSte na odpovedovy harok oznac¢eny piktogramom z .

Teraz mate dve minuty na precitanie tloh 14 —20.

14 Choose ideas you are familiar with. Number:
15 Be prepared for negative reactions. Number:
16  Respect publishers’ instructions. Number:
17 Produce a small amount regularly. Number:
18 Free your work from errors. Number:
19 Look for a group of similar people. Number:
20 Discover the proper companies for your work. Number:
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Section Il - LANGUAGE IN USE (20 points)

Tato Cast testu sa sklada z dvoch textov. Jej vypracovaniu by ste mali venovat priblizne
25 minut. Pri kaZzdom texte si vSimajte piktogram, aby ste vedeli, ktory odpovedovy harok
mate pouZit.

Part 1: Second, but Always Favourite (10 points)

V nasledujucom texte st na miestach 21— 30 vynechané slova. Za textom najdete pre kazdé
vynechané miesto Styri moznosti doplnenia. Rozhodnite, ktora z ponukanych mozZnosti (A)— (D)
je spravna. VZdy je spravna iba jedna mozZnost.

Priklad: 00 - (C)

Svoje odpovede vyznacéte na odpoved'ovom harku oznacenom piktogramom .

Catania is the liveliest and 00 attractive town in all of Sicily. Itis second in 21 but
the most popular, and it can be found on the slopes of Mount Etna. 22 in 729 BC, Catania
is one of the oldest Greek colonies. Its peak came in Roman times but today its popularity
is returning quickly. And that can come as no 23 . The city is made up of two main
roads which meet at Piazza del Duomo. Thanks to its many baroque works of architecture, the
city features on UNESCO’s world cultural heritage 24 . The busy Via Etnea is the most
popular shopping street in all Catania, running for over three kilometres and lined with shops,
bars, restaurants and many of the city’s 25 . It’s a place where you can shop till you
drop, enjoy some great food and drink and visit the Basilica Collegiata, for instance. Running
parallel with Via Etnea is her quieter sister Via Crociferi. This is a highly attractive baroque
spectacle packed 26 palaces, old buildings and churches. It’s like travelling back in
time to see what Catania 27 in the 18" century. For example, here is the Cathedral
of St Agatha on Piazza del Duomo. Today the building has a baroque style, but it originally

28 from the Norman period and has elements that go back into history. And there are
many 29 places of interest in the city so if you like a bit of history on holiday, Catania

30 for you.
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00 (A) much (B) more (C) most (D) too

21 (A) size (B) shape (C) distance (D) figure

22 (A) Based (B) Loaded (C) Founded (D) Placed
23 (A) magic (B) miracle (C) wonder (D) spell

24 (A) list (B) record (C) letter (D) paper
25 (A) sights (B) scenes (C) sides (D) sighs

26 (A) on (B) off (C) with (D) from

27 (A) looked like (B) looked as (C) was (D) appeared
28 (A) belongs (B) takes (C) owns (D) dates

29 (A) another (B) other (C) the other (D) others
30 (A) made just (B) was just made  (C) just was made (D) just made
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Part 2: Uluru — the ‘Heart of Australia’ (10 points)

V nasledujicom texte st na miestach 31— 40 vynechané slové. Dopiriajte len také slova, ktoré
maju gramaticku funkciu. Doplnite vZdy iba jedno slovo.

Priklad: 00 — the

Svoje odpovede napiste na odpoved’ovy harok oznac¢eny piktogramom z .

Uluru is the largest single rock in 00 world. It rises 348 metres 31 the ground
and is nine kilometres around at ground level. Its colour depends 32 the time of day and
the weather. At the base is a series of caves and water holes, 33 with deep spiritual
meaning for the traditional Aboriginal keepers of the place. In some 34 the caves,
traditional Aboriginal paintings can be seen. Tourists can 35 taken to see the ‘galleries’
of rock art by guides who explain the symbols and the techniques used. The Aboriginal Cultural
Centre nearby makes it clear that Aboriginal people 36 prefer tourists not to climb the
rock. The reasons for 37 are that Uluru is a sacred site, and that it is quite dangerous
to climb. The Aborigines do 38 want their special site to cause people’s deaths. Several
people die each year climbing the rock, leaving the marked path. Despite this, thousands of
tourists 39 climb to the top of the rock every year. In 1963, the tribal elders agreed to
have a rope installed along the steepest part of the trail and this 40 made the climb far

less hazardous.
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MATURITA 2020 — EXTERNA CAST

Section Il - READING (20 points)

Tato Cast testu sa sklada z troch ukazok. Jej vypracovaniu by ste mali venovat priblizne
45 minut. Pri kazdom texte si vS§imajte piktogram, aby ste vedeli, ktory odpovedovy harok
mate pouZit.

Part 1: California Gold Rush (7 points)

Precitajte si nasledujuci text, v ktorom st na miestach 41 —47 vynechané vety. Prirad’te vhodnu
vetu spomedzi moznosti (A)—(J) na dané miesto. Tri vety nie je mozné priradit. VZdy existuje
iba jedno spravne riesenie.

Svoje odpovede vyznacte na odpovedovom harku oznacenom piktogramom .

The California Gold Rush took place between 1848 and 1855. During this time, gold was discovered
in California. Over 300,000 people rushed to California to find gold and ‘strike it rich’.

Gold was first discovered in California by James Marshall at Sutter’s Mill near the city of
Coloma. James was building a sawmill for John Sutter when he found shiny flakes of gold in
the river. He told John Sutter about the discovery. 4 However, soon word got out and
people were rushing to California to find gold.

Before the gold rush, there were only around 14,000 non-Native Americans living in
California. This soon changed. Around 6,000 people arrived in 1848 and in 1849 around 90,000
people arrived to hunt for gold. 42 They came from all around the world. Some were
Americans, but many came from places like China, Mexico, Europe, and Australia.

Many of the first to arrive did make a lot of money. They often made ten times more in
a day than they could doing a normal job. The original miners used simple methods to find gold.
Later, more complex methods were used. 43 They could also search larger amounts of
gravel for gold.

One of the simple methods miners used to separate gold from dirt and gravel was called
panning. When panning for gold, miners put gravel and water into a pan and then shook the
pan back and forth. 44 Therefore, after shaking the pan for a while, the gold would be
on the bottom of the pan and the worthless material would be at the top. Then the miner could
extract the gold and set it aside.

All these thousands of miners needed equipment. Typical equipment for a miner included
a pan, a shovel, and a pickaxe. 45 Those included coffee, bacon, sugar, beans, flour,

bedding, a tent, a lamp, and a kettle.

10
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Whenever gold was discovered in a new place, miners would move in and make a mining
camp. 46 San Francisco and Columbia are two examples of such towns during the
gold rush.

A lot of boomtowns eventually turned into abandoned ghost towns. When the gold ran out
in one area, the miners would leave to find another gold discovery. 47 One example of

a gold rush ghost town is Bodie, California. Today, it is a popular tourist attraction.

(A) John and James wanted to inform some of their friends.

(B) The store owners who sold supplies to the miners often became richer than the miners.

(C) This method of separating gold was found unsuccessful.

(D) These people were called the Forty-niners.

(E) The businesses would leave too and soon the town would be empty.

(F) They also needed food and living supplies.

(G) The two men tried to keep it secret.

(H) Because gold is heavy it will eventually work its way to the bottom of the pan.

(1) Sometimes these camps would quickly grow into towns.

(J) Using them, more miners could work together.

18. marec 2020
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MATURITA 2020 — EXTERNA CAST

Part 2: Johannes Gutenberg (6 points)

Precitajte si nasledujuci text. Rozhodnite o kazdom tvrdeni 48—53, Ci je pravdivé (A) alebo
nepravdivé (B). Uvedte vzdy aj oznacenie toho odseku (a)—(e), na zaklade ktorého ste rozhodli

o pravdivosti alebo nepravdivosti daného tvrdenia. VZdy existuje iba jedno spravne rieSenie.

Svoje odpovede vyznacte na odpoved’ovom harku oznacenom piktogramom .

(a) Before Johannes Gutenberg introduced the printing press, making a book was a difficult
process in Europe. It wasn’t that hard to write a letter to one person by hand, but to create
thousands of books for many people to read was nearly impossible. Without the invention
of the printing press, the Scientific Revolution or the Renaissance could not happen. Our

world would be very different.

(b) Gutenberg was born in Mainz, Germany around the year 1398. He was the son of a man
who made jewellery from gold. Not much more is known about his childhood. It appears

he moved a few times around Germany, but that’s about all we know for sure.

(c) Gutenberg took some existing technologies and some of his own inventions to come up
with the printing press in the year 1450. One key idea he came up with was moveable type.
Rather than use wooden blocks to press ink onto paper, Gutenberg used moveable metal
pieces to quickly create pages. Gutenberg introduced innovations all the way through the

printing process, enabling pages to be printed much more rapidly.

(d) His presses could print thousands of pages per day compared to only 40—50 pages
with the old method. This was a dramatic improvement and allowed books to be read
by ordinary people for the first time in the history of Europe. Knowledge and education

spread throughout the continent like never before.

(e) People think that the first printed item from the press was a German poem. Other prints
included Latin grammars. Gutenberg’s real fame came from producing the Gutenberg
Bible. It was the first time a Bible was mass-produced and available for anyone outside the
Church. Bibles were rare and could take up to a year for a priest to transcribe. Gutenberg

printed around 200 Bibles in a relatively short time.

12
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48

The invention of the printing press was a result of the Scientific Revolution.

(A) true (B) false

Which of the paragraphs (a)—(e) supports your answer?

49

The printing press was based on Gutenberg’s ideas only.

(A) true (B) false

Which of the paragraphs (a)—(e) supports your answer?

50

We do not know exactly what was printed first.

(A) true (B) false

Which of the paragraphs (a)—(e) supports your answer?

51

With printing, common people started to have access to books.

(A) true (B) false

Which of the paragraphs (a)—(e) supports your answer?

52

Gutenberg used a mixture of wooden and metal blocks.

(A) true (B) false

Which of the paragraphs (a)—(e) supports your answer?

53

We know a lot about Gutenberg’s childhood.

(A) true (B) false

Which of the paragraphs (a)—(e) supports your answer?

18. marec 2020
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Part 3: Dezo Hoffmann (7 points)

Precitajte si nasledujuci text. Za textom nasleduju vety, v ktorych chybaju slova 54 — 60. Vety
nie st v tom poradi, v akom su usporiadané informacie v texte. Doplrite jedno alebo dve slova.
Tieto slova sa nachadzaju v texte.

Svoje odpovede napiste na odpovedovy harok oznac¢eny piktogramom z .

Dezo Hoffmann was born on 24 May 1912 in Banska Stiavnica, Kingdom of Hungary, now
Slovakia. After studying journalism in Prague, he worked at Twentieth Century Fox in Paris as a
photo-journalist. During Mussolini’s invasion of Abyssinia, he was sent to make a documentary
of the invasion. After returning from Africa he was sent to Spain to film the 1936 People’s
Olympiad (a protest against the official Olympic Games in Berlin under Hitler’s propaganda).
Soon after he arrived in Spain, the civil war broke out and Dezo found himself on the barricades.

Facing war dangers, Dezo was injured a few times. The third injury was serious, leaving him
without memory for several months. After recovery he moved to England and joined the group
of Czechoslovak pilots flying with the RAF during World War Il. After the war, he remained in
London, working for various newspapers and magazines. In 1955, he began his collaboration
with Record Mirror magazine, which was the start of his career photographing show-business
celebrities.

In 1962, he went to Liverpool to shoot an unknown but promising group The Beatles.
Mutual appreciation and sympathy led to a long-lasting relationship between Hoffmann and
the group. They say that Paul McCartney declared him the world’s best photographer. During
the following years Hoffmann’s famous photos of The Beatles attracted the attention of many
other stars. He was regarded as a ‘nice chap’ who was welcomed wherever he went despite
his strong foreign accent.

In 1982, Omnibus Press published With The Beatles — The Historic Photographs of Dezo
Hoffmann, showing some of the photos taken by Dezo during the prime time of Beatlemania. This
book is out of print as Dezo’s Beatles photos collection has been acquired by Apple Corps Ltd.
Hoffmann sold 100 of his Beatles negatives to Australian Colin Kaye. The remainder of Dezo’s
archive of approximately 1 million photographs of many pop musicians and showbiz personalities
was acquired by Rex Features, the photo agency and library which had represented Dezo for
worldwide media sales of his work from the early 1960s until his death. Dezo Hoffmann died on

29 March 1986 aged 73 in the Harley Street Clinic, London.

14
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54 During the war, Dezo lost his for some time. (1 word)
55 After finishing his studies, Dezo took a job as a/an : (1 word)
56 Dezo fought as a/an in the Second World War. (1 word)
57 The role of Rex Features was to represent Dezo for (2 words)

all over the world.

58 Before working in Spain, Dezo was in making a documentary. | (1 word)
59 When he was talking, everyone could hear Dezo’s .| (2 words)
60 Hoffman’s famous book is no longer printed because the (1 word)

have a different owner.
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Pokyny na vypliovanie odpovedového harka

Odpovedové harky budu skenované, nesmu sa kopirovat, kr€it ani prehybat.
Aby skener vedel precitat vase odpovede, musite dodrzat nasledujuce pokyny:

Piste perom s Ciernou alebo modrou naplfiou. NepouZivajte tradi¢né plniace pera, velmi tenko
piSuce pera, obycajné ceruzky ani pentelky.

RieSenia uloh s vyberom odpovede zapisujte krizikom IZ

B C D

L1 0O X L

Spravne zaznacenie odpovede (C)

. A B C D
Nespravne zaznaCenie odpovede (C) IZ |:| IZ |:|
A B C D
V pripade chybného vyplnenia udajov alebo odpovedi postupujte podla nasledujucich pokynov.
V ziadnom pripade nepouzivajte novy odpovedovy harok.

Ked sa pomylite alebo neskdér zmenite nazor, uplne zaplite policko s nespravnym krizikom
a urobte novy krizik.

A B C D
Ak ndhodou znovu zmenite nazor a chcete zaznacit poévodnu odpoved, urobte kriziky
do vSetkych poli¢ok a zaplnené poli¢ko dajte do kruzku.

A B C D
Odpovede na ulohy s kratkou odpovedou napiste do prislusného pola odpovedového harka

Citatelne pisanym alebo tlatenym pismom. Pri pouziti tlaCeného pisma rozliSujte velké a malé
pismena.

Neotvarajte test, pokial nedostanete pokyn!



